
Part # Qty. Part # Qty. Description

   1) 2001-1 2 11) 8 #6 X 1 1/4” FHSM screw
   2) 2002-1 2 12) 6 #6 X 3/8” TEK screw
   3) 2003 1 13) 8 #8 X 3/4" PHSM screw
   4) 2004 1 14) 12 #8 X 1 1/2" PHSM screw
   5) 2005 2 15) 6 #6 X 3/8” TEK screw
   6) 2006-1 2 16) 1 Travel Latch Assembly
   7) 2007 2 17) 2 #4 X 3/8” PHSM screw
   8) 2008-1 2 18) 2 Bumper

       9) H-959 4 19) 1
10) H-957* 1 C-Handle

*     Included in hardware bag (APEX200HB)

Shower Enclosures America, Inc.
Ontario, CA

3-4

Inner Wall Jamb

Roller

Door Stile
Door Top/Bottom Rail
Panel Top/Bottom Rail

Panel Post

Header/Sill

200TL*
S-101T*
S-103*

Door rail gap sealV-APEX200

ST4*10
H-958

APEX 200 COMPONENTS

S-100*
S-101T*

Panel Stile

S-108

Description

Outer Wall Jamb


